

Corneal Sensitivity Across Keratoconus Stages: A Pilot Study

Sensibilidade Corneana Nos Diferentes Estádios De Queratocone: Um Estudo Piloto

 Beatriz Gaspar ^{1,2}, Nuno Cruz ^{1,2}, Alexandre Fontes ⁴, João Quadrado Gil ^{1,2,3}, Esmeralda Costa ^{1,2,3}, Cristina Tavares ^{1,2}, Andreia Rosa ^{1,2,3}, Maria João Quadrado ^{1,2,3}

¹ Ophthalmology Department, Coimbra Local Health Unit (ULS Coimbra), Coimbra, Portugal

² Clinical Academic Centre of Coimbra (CACC), Coimbra, Portugal

³ Faculty of Medicine, University of Coimbra (FMUC), Coimbra, Portugal

⁴ Faculty of Medicine, University of Minho (EMED), Coimbra, Portugal

Recebido/Received: 2025-10-28 | Aceite/Accepted: 2026-02-08 | Published online/Publicado online: 2026-07-11 | Published/Publicado: 2026-09-26

© 2026 Oftalmologia. This is an open-access article under the CC BY-NC 4.0. Re-use permitted under CC BY-NC 4.0. No commercial re-use.

© 2026 Oftalmologia. Este é um artigo de acesso aberto sob a licença CC BY-NC 4.0. Reutilização permitida de acordo com CC BY-NC 4.0. Nenhuma reutilização comercial.

DOI: <https://doi.org/10.48560/rspo.43839>

ABSTRACT

INTRODUCTION: Keratoconus is a progressive, non-inflammatory ectatic corneal disorder characterized by stromal thinning, irregular astigmatism, and visual impairment, with a substantial impact on quality of life. Beyond structural and biomechanical alterations, growing evidence indicates that keratoconus also involves changes in corneal innervation, such as reduced sub-basal nerve density, increased tortuosity, and stromal nerve thickening. These neural changes have been associated with reduced corneal sensitivity, and some studies suggest a correlation between sensitivity loss and disease severity. Given the critical role of corneal nerves in ocular surface homeostasis, wound healing, and tear production, assessing corneal sensitivity across different keratoconus stages may provide valuable insights into disease pathophysiology and progression.

METHODS: Keratoconus diagnosis was performed using Pentacam HR (Oculus, Germany). Corneal sensitivity was assessed using the Brill esthesiometer, a recently developed device that provides precise, reproducible, and operator-independent measurements, with improved clinical applicability compared to traditional contact-based methods. Keratoconus severity was classified according to the Amsler-Krumeich system and the ABCD grading system. Group differences in sensitivity were analyzed using the Kruskal-Wallis test, and correlations between disease stage and sensitivity were explored with Spearman's rank correlation coefficient.

RESULTS: Twenty patients were included (40% female; mean age 25.8 ± 8.1 years; range 13–43). Keratoconus stages were distributed as follows: stage I – 50%, stage II – 30%, stage III – 10%, and stage IV – 10%. Median corneal sensitivity was 2.60 (IQR: 2.1). No statistically significant differences in sensitivity were found across stages ($p > 0.05$). The correlation between sensitivity and disease stage was weak and not significant ($\rho = 0.23$, $p = 0.32$). Only one patient reported contact lens use, limiting subgroup analysis.

CONCLUSION: This study found no significant association between keratoconus severity, as classified by the Amsler-Krumeich system, and corneal sensitivity. Nonetheless, these results contribute to the ongoing investigation of neurosensory involvement in keratoconus and highlight the potential of the esthesiometer as a practical and reliable tool for evaluating corneal sensitivity.

KEYWORDS: Disease Progression; Keratoconus; Cornea.

RESUMO

INTRODUÇÃO: O queratocone é uma ectasia progressiva da córnea, não inflamatória, caracterizada por adelgaçamento estromal, astigmatismo irregular e comprometimento visual, com impacto na qualidade de vida. Evidências crescentes demonstram também alterações na inervação corneana, como redução da densidade das fibras nervosas sub-basais, aumento da tortuosidade e espessamento dos nervos estromais. Estas alterações têm sido associadas à diminuição da sensibilidade corneana, e alguns estudos sugerem uma correlação entre a perda de sensibilidade e a gravidade da doença. Considerando o papel dos nervos corneanos na homeostase da superfície ocular, a avaliação da sensibilidade corneana em diferentes estádios do queratocone poderá fornecer informações relevantes sobre a fisiopatologia e progressão da doença.

MÉTODOS: O diagnóstico foi realizado através do Pentacam HR (Oculus, Alemanha). A sensibilidade corneana foi avaliada com o estesiômetro de Brill, um dispositivo recente que fornece medições precisas, reprodutíveis e operador independente, com melhor aplicabilidade clínica que os métodos de contacto tradicionais. A gravidade do queratocone foi classificada com o sistema de Amsler-Krumeich e classificação ABCD do Pentacam. O teste de Kruskal-Wallis permitiu a análise de diferenças entre grupos quanto à sensibilidade, e foram exploradas as correlações entre o estádio da doença e a sensibilidade pelo coeficiente de correlação de Spearman.

RESULTADOS: Foram incluídos vinte pacientes (40% do sexo feminino; idade média de 25,8 ± 8,1 anos; amplitude de 13–43 anos). A distribuição por estádios de queratocone foi a seguinte: estágio I – 50%, estágio II – 30%, estágio III – 10% e estágio IV – 10%. A mediana da sensibilidade corneana foi de 2,60 (IQR: 2,1). Não foram observadas diferenças estatisticamente significativas na sensibilidade entre os estádios ($p > 0,05$). A correlação entre sensibilidade e estágio da doença foi não significativa ($\rho = 0,23$; $p = 0,32$). Apenas um paciente referiu uso de lentes de contacto, o que limitou a análise de subgrupos.

CONCLUSÃO: Este estudo não encontrou associação significativa entre a gravidade do queratocone, e a sensibilidade corneana. Todavia, estes resultados contribuem para a investigação relativa ao envolvimento nervoso no queratocone e destaca o potencial do estesiômetro de Brill como uma ferramenta para a avaliação da sensibilidade corneana.

PALAVRAS-CHAVE: Córnea; Progressão da Doença; Queratocone.

INTRODUCTION

Keratoconus (KC) is the most common corneal ectatic disease. It is a progressive, non-inflammatory corneal disorder characterized by central or paracentral stromal thinning and steepening, leading to irregular astigmatism and visual impairment, with a substantial impact on quality of life.

The prevalence of KC is approximately 1.38 per 1000 individuals, with rates reaching up to 5% of the population in some regions of the world, such as the Middle East. It affects both sexes and typically manifests around puberty, progressing until the third or fourth decade of life, when it stabilizes. Although its exact etiology is still unknown, some environmental factors such as sunlight exposure, dry weather and eye rubbing have been identified as contributors to its pathogenesis, alongside genetic predisposition.^{1–4}

The corneal epithelium is densely innervated, with sensitivity related to the number of stromal nerve fibers. In addition to protecting the cornea by triggering reflex responses to external stimuli, corneal nerves also maintain ocular surface homeostasis through the release of trophic

factors and the activation of brainstem circuits that regulate tear production and blinking.^{5–7}

Recent advances in *in vivo* corneal confocal microscopy have demonstrated pronounced microstructural alterations in the corneal nerves of patients with KC, including reduced sub-basal nerve density, increased tortuosity, thickening, and disorganization of both sub-basal and stromal nerve plexuses. These findings, supported by immunohistochemical studies, indicate that corneal nerves play an active role in the pathophysiology of the disease. However, whether these neural alterations represent primary changes or secondary effects of stromal remodeling remains unclear. Considering the crucial role of corneal innervation in maintaining epithelial integrity, tear film stability, and corneal homeostasis, investigating corneal sensitivity across different stages of keratoconus may provide valuable insights into its neurosensory involvement and disease progression.^{8–12}

Traditionally, corneal sensitivity has been assessed using the Cochet-Bonnet aesthesiometer, regarded as the clinical gold standard due to its simplicity, portability, and

long-standing use. However, its contact-based mechanism carries a risk of epithelial injury and is influenced by operator technique and environmental factors, potentially limiting its precision and reproducibility. Over the years, several other instruments have been developed to measure corneal sensation and innervation, including the Belmonte Non-Contact Aesthesiometer and the Swiss Liquid Jet Aesthesiometer. Despite offering higher precision and control of stimulus parameters, these devices are relatively expensive, require specialized training, and are not easily adaptable to routine clinical settings.^{13,14}

Until recently, available corneal aesthesiometers presented a trade-off between accessible and intuitive devices that lacked precision and accuracy, and highly precise devices that demanded greater expertise and complex equipment. The Brill non-contact esthesiometer appears to have been designed to address these limitations, offering a safe, portable, and operator-independent method for assessing corneal sensitivity. Preliminary studies suggest that it provides measurements with good agreement and comparable range to the Cochet-Bonnet.

Central corneal sensation is reported to be significantly reduced in KC patients compared to normal controls, with further reductions observed in contact lens wearers. While some studies associate reduced corneal sensitivity with KC severity, others report no significant correlation after adjusting for contact lens wear, indicating conflicting evidence.^{12,15–18} Given the crucial role of corneal innervation in ocular physiology, the present study aims to evaluate corneal sensitivity variation across different stages of KC, classified according to the Amsler-Krumeich (AK) system, using the Brill non-contact esthesiometer. The use of this device allows for standardized, reproducible, and patient-friendly assessment of corneal sensitivity, minimizing discomfort and eliminating operator-dependent variability commonly associated with traditional contact-based methods.

MATERIAL AND METHODS

STUDY DESIGN

A prospective observational study was conducted at the Ophthalmology Department of a Portuguese medical center. The study was performed in accordance with the Declaration of Helsinki.

PARTICIPANTS

Patients diagnosed with KC were invited to participate. Patients were excluded if they had any of the following: inability to provide informed consent, corneal opacities or scarring, other significant ocular diseases affecting corneal sensitivity such as diabetes, prior corneal transplant or crosslinking, or serious psychiatric conditions.

CORNEAL SENSITIVITY

Central corneal sensitivity was measured using the Brill non-contact esthesiometer (Figs. 1 and 2), which delivers calibrated air pulses to quantify sensory detection thresholds. Participants were required to cease contact lens use



Figure 1. The Brill corneal esthesiometer is a portable, handheld, and non-contact device engineered for precise measurement of corneal sensitivity. Its structure features an ergonomic handle, a digital display for real-time stimulus adjustments, and an electronic positioning system that includes a camera and dual infrared LEDs for accurate alignment and distance control. The device employs a nozzle to deliver controlled pulses of air to the cornea and can be used either as a standalone handheld unit or mounted on a slit lamp. It offers five selectable pressure levels, an integrated sensor to record delivered stimulus, and operates with rechargeable battery power—streamlining assessments of corneal nerve function in both clinical and research contexts.

for a minimum of 14 days before the appointment. During testing, subjects were positioned with chin and forehead support, fixating on a distant target to ensure stability and minimize reflexive blinking. The eye to be tested first was randomly selected, with three threshold measurements taken per eye at 30 to 60-second intervals; the mean value was used for analysis. The stimulus followed an ascending-descending staircase protocol and testing was paused if the participant experienced discomfort, excessive tearing, or loss of fixation. All assessments were conducted by the same two examiners to ensure consistency, using calibrated and standardized equipment.

CORNEAL TOMOGRAPHY

Corneal tomography was obtained with Pentacam HR (Oculus, Germany). Mean central keratometry (Kmed) and thinnest corneal thickness (TCT) were registered. The severity of KC was classified according to the AK classification, a widely used system based on several parameters: corneal curvature (keratometry), corneal thickness (pachymetry), degree of myopia and astigmatism (spherical equivalent), and presence of central corneal scarring. The classification



Figure 2. The Brill corneal esthesiometer in clinical use. The device is positioned in front of the patient's eye, and the integrated digital display shows real-time visualization of the ocular surface, stimulus pressure (6.4 mbar), and battery status. The ergonomic design enables single-handed operation, with a control dial for stimulus adjustment and a colored indicator light signaling device readiness. The system delivers non-contact air pulses to the cornea and uses a camera coupled with infrared LEDs for optimal alignment and precise distance control, ensuring standardization and reproducibility during corneal sensitivity assessment in both clinical and research settings.

divides KC into four stages:

- Stage I (mild): Eccentric corneal steepening, Kmed < 48D, myopia and/or astigmatism < -5D
- Stage II (moderate): Kmed <53D, TCT>400 μ m, no central scarring, myopia and/or astigmatism between -5 and -8 D.
- Stage III (advanced): Kmed >53D, TCT 300-400 μ m, no scarring myopia and/or astigmatism between -5 and -10D.
- Stage IV (severe): Kmed >55D, TCT<200 μ m, central corneal scarring or perforation, refraction not measurable.

DATA COLLECTION

Patients were invited to participate in the study during a medical evaluation. Following their agreement, data were collected at the same time point, including demographics, and best-corrected visual acuity (BCVA) was measured with a Snellen scale and converted to logMAR for statistical purposes.

STATISTICAL ANALYSIS

Statistical analysis was performed using IBM SPSS Statistics® for Windows (version 31). Demographic and clinical variables were summarized using descriptive statistics, including means, standard deviations, medians, interquartile ranges, and frequencies as appropriate. Data from the most severe eye of each subject, based on keratometry readings, were included in the analyses. Variables were tested for normality using the Shapiro–Wilk test. Parametric tests were applied to variables with normal distribution ($p \geq 0.05$ on the Shapiro–Wilk test), while nonparametric tests were used for variables that were not normally distributed ($p < 0.05$ on the Shapiro–Wilk test). Differences in corneal sensitivity across KC stages were assessed using the Kruskal–Wallis test. Multiple pairwise comparisons between stages were conducted with appropriately adjusted post-hoc tests, with p-values corrected for multiple testing, using the Bonferroni correction. The association between corneal sensitivity and KC stage was examined using Spearman's rank correlation. Due to only one contact lens user in the sample, partial correlation was not possible to perform. A p-value less than 0.05 was considered statistically significant.

No missing data were reported. Sample size calculation or power analysis was not performed due to the exploratory nature of the pilot study.

RESULTS

DEMOGRAPHIC AND CLINICAL CHARACTERISTICS

A total of 20 patients with KC were included in the study. The mean age was 25.85 ± 1.81 years (ranging from 13 to 43) and most patients were males (55%, $n=11$), with a predominance of left eyes (65%) over right eyes (35%). Me-

Table 1. Demographic and clinical characteristics of both groups.

Patients	(n=20)
Sex	
Male (%)	55
Female (%)	45
Age	
Mean (SD)	25.85 (1814)
Eye	
Right (%)	35
Left (%)	65
Contact Lens (%)	5
Sensitivity	
Median (IQR)	2.60 (2.1)
Severity stage (Amsler-Krumeich classification)	
Stage I (%)	50
Stage II (%)	30
Stage III (%)	10
Stage IV (%)	10

SD: standard deviation; IQR: interquartile range.

dian corneal sensitivity, as measured by the Brill esthesiometer, was 2.60 (IQR: 2.1). Based on the Amsler-Krumeich (AK) classification, 50% (n=10) of patients were categorized as stage I, 30% (n=6) as stage II, 10% (n=2) as stage III, and 10% (n=2) were classified as having the most advanced form of the disease (stage IV). Table 1 outlines demographic and clinical characteristics of the patients.

CORRELATION BETWEEN CORNEAL SENSITIVITY AND DISEASE STAGE

Spearman's rank correlation analysis showed no statistically significant association between corneal sensitivity and KC stage ($\rho=0.234$, $p=0.322$; Table 2), indicating that corneal sensitivity did not vary appreciably across the different disease stages. Only one patient was a current contact lens user, precluding the use of partial correlation analysis to control for potential confounding effects of contact lens wear.

Table 2. Spearman's rank correlation coefficients (ρ) between corneal sensitivity and keratoconus stage according to Amsler-Krumeich (AK).

	Correlation coefficient (ρ)	p-value	N
Corneal Sensitivity vs AK Stage	0.234	0.322	20

No significant correlation was observed ($p>0.05$).

COMPARISON OF CORNEAL SENSITIVITY ACROSS STAGES

The distribution of corneal sensitivity by disease stage was further assessed using the Kruskal-Wallis test. The analysis revealed no statistically significant differences among the groups ($H=2.958$, $df=3$, $p=0.398$). Pairwise stage comparisons, corrected using Bonferroni adjustment, also failed to identify significant differences between any pair of stages (all adjusted $p>0.05$; Table 3).

DISCUSSION

Evidence regarding the relationship between corneal sensitivity and KC severity remains conflicting. In this study, central corneal sensitivity was assessed using the Brill non-contact esthesiometer, a recent device that provides precise, reproducible, and operator-independent measurements while minimizing the risk of epithelial in-

jury. This instrument offers improved clinical applicability compared to the Cochet-Bonnet aesthesiometer, considered the gold standard, which is susceptible to operator-dependent variability, environmental influences and potential corneal trauma.^{13,14}

Previous studies report reduced corneal sensitivity in KC patients, with more pronounced decreases in contact lens wearers. However, associations between sensitivity and disease severity are inconsistent, likely due to differences in classification systems, small sample sizes, and diverse measurement methodologies.^{12,15-19} In our study, corneal sensitivity did not vary significantly across KC stages classified by the AK system, consistent with reports indicating that reduced sensitivity may occur even in early or subclinical KC. This suggests that neural alterations can precede overt corneal thinning or topographic changes, and that sensitivity alone may not reliably reflect disease progression.^{15,18,20}

Morphological changes of corneal nerves in KC include thickening, increased tortuosity, nerve sprouting, and overgrowth, primarily affecting central stromal nerves. These nerve changes are evident even in early stages and appear to worsen with disease progression, likely driven by tissue remodelling and imbalances in neurotrophic factors.^{8-12,21}

Although corneal sensitivity was not found to be a useful marker for KC progression or staging, its assessment may remain clinically valuable, particularly in early detection.^{8-12,21} Integrating functional sensory testing with the Brill esthesiometer and imaging modalities may improve identification of patients at risk and guide timely therapeutic interventions.²¹

This study has limitations, including a small sample size, the low number of contact lens users, and its cross-sectional design, which precludes assessment of longitudinal changes. Additionally, while the AK classification is widely accepted, it may not capture all nuances of KC severity. Future research should employ larger, longitudinal cohorts and incorporate multimodal approaches, such as *in vivo* confocal microscopy and molecular biomarkers, to provide a comprehensive understanding of corneal neurosensory alterations.

Corneal sensitivity did not significantly vary with keratoconus severity as classified by the AK system. Although morphological changes in corneal nerves are evident early

Table 3. Pairwise post-hoc comparisons between AK stages following the Kruskal-Wallis test. Adjusted p-values account for multiple comparisons.

Comparison	Test Statistic	Std. Error	Std. Test Statistic	p-value	Adjusted p-value
2 vs 1	0.633	3.033	0.209	0.835	1.000
2 vs 3	-2.333	4.796	-0.487	0.627	1.000
2 vs 4	-7.833	4.796	-1.633	0.102	0.614
1 vs 3	-1.700	4.550	-0.374	0.709	1.000
1 vs 4	-7.200	4.550	-1.583	0.114	0.681
3 vs 4	-5.500	5.874	-0.936	0.349	1.000

No statistically significant differences were found among any pair of stages (all adjusted $p>0.05$).

in the disease, functional sensitivity measurements alone do not reliably reflect disease progression. However, corneal sensitivity testing may still aid in the early detection of KC, particularly when integrated with imaging. Further longitudinal and multimodal research is essential to improve our understanding of neurosensory alterations and enhance clinical management of keratoconus.

CONTRIBUTORSHIP STATEMENT / DECLARAÇÃO DE CONTRIBUIÇÃO

BG: Formal analysis, data collection, writing original draft, editing.

NC and AF: Data collection.

AR: Conceptualization, writing – review & editing.

JQG, EC, CT and MJQ: Writing – review & editing.

All authors have read and approved the version to be published.

BG: Análise formal, recolha de dados, redação do rascunho original, revisão.

NC e AF: Recolha de dados.

AR: Conceitualização, redação – revisão e edição.

JQG, EC, CT e MJQ: Redação – revisão e edição.

Todos os autores leram e aprovaram a versão a publicar.

RESPONSABILIDADES ÉTICAS

Conflitos de Interesse: Os autores declaram a inexistência de conflitos de interesse na realização do presente trabalho.

Fontes de Financiamento: Não existiram fontes externas de financiamento para a realização deste artigo.

Confidencialidade dos Dados: Os autores declaram ter seguido os protocolos da sua instituição acerca da publicação dos dados de doentes.

Proteção de Pessoas e Animais: Os autores declaram que os procedimentos seguidos estavam de acordo com os regulamentos estabelecidos pela Comissão de Ética responsável e de acordo com a Declaração de Helsínquia revista em 2024 e da Associação Médica Mundial.

Proveniência e Revisão por Pares: Não comissionado; revisão externa por pares.

ETHICAL DISCLOSURES

Conflicts of Interest: The authors have no conflicts of interest to declare.

Financing Support: This work has not received any contribution, grant or scholarship

Confidentiality of Data: The authors declare that they have followed the protocols of their work center on the publication of patient data.

Protection of Human and Animal Subjects: The authors declare that the procedures followed were in accord-

ance with the regulations of the relevant clinical research ethics committee and those of the Code of Ethics of the World Medical Association (Declaration of Helsinki as revised in 2024).

Provenance and Peer Review: Not commissioned; externally peer-reviewed.

REFERENCES

- Gomes JAP, Rodrigues PF, Lamazales LL. Keratoconus epidemiology: A review. *Saudi J Ophthalmol.* 2022;36:3–6. doi: 10.4103/sjopt.sjopt_204_21.
- Hashemi H, Heydarian S, Hooshmand E, Saatchi M, Yekta A, Aghamirsalam M, et al. The Prevalence and Risk Factors for Keratoconus: A Systematic Review and Meta-Analysis. *Cornea.* 2020;39:263–70. doi: 10.1097/ICO.0000000000002150.
- Kennedy RH, Bourne WM, Dyer JA. A 48-year clinical and epidemiologic study of keratoconus. *Am J Ophthalmol.* 1986;101:267–73. doi: 10.1016/0002-9394(86)90817-2.
- Krachmer JH, Feder RS, Belin MW. Keratoconus and related noninflammatory corneal thinning disorders. *Surv Ophthalmol.* 1984;28:293–322. doi: 10.1016/0039-6257(84)90094-8.
- Zander E, Weddell G. Observations on the innervation of the cornea. *J Anat.* 1951;85:68–99.
- Belmonte C, Acosta MC, Gallar J. Neural basis of sensation in intact and injured corneas. *Exp Eye Res.* 2004;78:513–25. doi: 10.1016/j.exer.2003.09.023.
- Müller LJ, Pels L, Vrensen GF. Ultrastructural organization of human corneal nerves. *Invest Ophthalmol Vis Sci.* 1996;37:476–88.
- Brookes NH, Loh IP, Clover GM, Poole CA, Sherwin T. Involvement of corneal nerves in the progression of keratoconus. *Exp Eye Res.* 2003;77:515–24. doi: 10.1016/s0014-4835(03)00148-9.
- Patel DV, McGhee CN. Mapping the corneal sub-basal nerve plexus in keratoconus by in vivo laser scanning confocal microscopy. *Invest Ophthalmol Vis Sci.* 2006;47:1348–51. doi: 10.1167/iovs.05-1217.
- Niederer RL, Perumal D, Sherwin T, McGhee CN. Laser scanning in vivo confocal microscopy reveals reduced innervation and reduction in cell density in all layers of the keratoconic cornea. *Invest Ophthalmol Vis Sci.* 2008;49:2964–70. doi: 10.1167/iovs.07-0968.
- Hollingsworth JG, Efron N, Tullo AB. In vivo corneal confocal microscopy in keratoconus. *Ophthalmic Physiol Opt.* 2005;25:254–60. doi: 10.1111/j.1475-1313.2005.00278.x.
- Simo Mannion L, Tromans C, O'Donnell C. An evaluation of corneal nerve morphology and function in moderate keratoconus. *Contact Lens Anterior Eye J Br Contact Lens Assoc.* 2005;28:185–92. doi: 10.1016/j.clae.2005.10.005. E
- Crabtree JR, Tannir S, Tran K, Boente CS, Ali A, Borschel GH. Corneal nerve assessment by aesthesiometry: history, advancements, and future directions. *Vision.* 2024;8:34. doi: 10.3390/vision8020034.
- Merayo-Llodes J, Gómez Martín C, Lozano-Sanroma J, Renedo Laguna C. Assessment and safety of the new esthesiometer BRILL: Comparison with the Cochet-Bonnet Esthesiometer. *Eur J Ophthalmol.* 2024;34:1036–45. doi: 10.1177/11206721231210754.
- Dienes L, Kiss HJ, Perényi K, Nagy ZZ, Acosta MC, Gallar J, et al. Corneal sensitivity and dry eye symptoms in patients with

- keratoconus. PLoS One. 2015;10:e0141621. doi: 10.1371/journal.pone.0141621.
16. Millodot M, Owens H. Sensitivity and fragility in keratoconus. *Acta Ophthalmol.* 1983;61:908–17.
 17. Dogru M, Karakaya H, Ozçetin H, Ertürk H, Yücel A, Özmen A, et al. Tear function and ocular surface changes in keratoconus. *Ophthalmology.* 2003;110:1110–8. doi: 10.1016/S0161-6420(03)00261-6.
 18. Mandathara PS, Stapleton FJ, Kokkinakis J, Willcox MD. Pilot Study of Corneal Sensitivity and Its Association in Keratoconus. *Cornea.* 2017;36:163–8. doi: 10.1097/ICO.0000000000001077.
 19. Zabala M, Archila EA. Corneal sensitivity and topography in keratoconus. *CLAO J.* 1988;14:210–2.
 20. Cho KJ, Mok JW, Choi MY, Kim J yeon, Joo CK. Changes in corneal sensation and ocular surface in patients with asymmetrical keratoconus. *Cornea.* 2013;32:205–10. doi: 10.1097/ICO.0b013e3182632c07.
 21. Al-Aqaba MA, Faraj L, Fares U, Otri AM, Dua HS. The mor-

phologic characteristics of corneal nerves in advanced keratoconus as evaluated by acetylcholinesterase technique. *Am J Ophthalmol.* 2011;152:364–376.e1. doi: 10.1016/j.ajo.2011.03.006.



**Corresponding Author/
Autor Correspondente:**

Beatriz da Cruz Gonçalves Rodrigues Gaspar

Ophthalmology Department, Hospitais da Universidade de Coimbra, Unidade Local de Saúde (ULS) de Coimbra
Praceta Professor Mota Pinto,
3004-561, Coimbra, Portugal
E-mail: beacruzgaspar@gmail.com



ORCID: 0009-0006-1794-5985